0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVII %XGDIRNL ~i

7HIHVEIP pQ\HV] i PRIiV

ZHIHVEIPPO\
OilNXVQp 6] |NH ,(GINy
OiUNXVQp 6] |NH ,IGINy H Y +yQDS DIl &VRSRUN EW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
VIYIQ Ui\ X s
+8 9iPRVI\|IN 6C
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
1$(
YplpY 1$( @WIHVHQ
RV JiU DNI pUt
—XIDIpNHV] i PROIV
6101
+v0ODS
+8) (85
6]HPPINHY pUpNHIPV 1$C 6Dl IXIDIpN
s 6Dl 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
%( 6Diil C[IUD -XIDIpN
%( &VRSRUI BBBBBBBBBRBBBBE BBBBBBBBERE BBBBBBBBBR
_UTHIpY
6liIXV]
+DYL IHIHVIIP O\
YRIJDRP , +8)
SIHQV]  .[IGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDipN
_E52/< /E6=/T 3 *T: % *5%: (
YRIDRP ,, +8)
SIHQV]  .IGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %JUIiW —XIDIpN
SULHIDIQp U
%RUID\QP %iQVi JL $QGUHD e $C  *$:z > *5%: (
%DFVD (RQD
6=$%T *<g5*< 3 %%z )% *5% = (
* DIYDGRUI %D\D
%S<$56$, . +$1 . +21*25 3 xmio= *5% = (
%S<$56$, . +$1 . +21*25 25 xmi o* *5% = (
“U 1D\ *p]iQp
1DI\Qp %yGL EJQHV $C  *$z > *5% = (
*UHIRU 3piHU (Q
6E5_E1< 3e7(5 3 *$: )% *5% = (
+DPNyQp -XKiV]
" 2%261e 6h72 %2/<$ 3 rpr ox *5% = (

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

O UNXVQp 6] |NH ,IGINy



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID LN (MY -XIDIpN
)$5.%$61e 216 (5=6e%(7 3 *$- * *5% = (
7yiIK VIViQ $C  *$:D * *5$ = (
+XV]iU $0]
%tly ,VIYIQQp $C  *$:- * *5%: (
1DJ\ 6iQGRUQp +DYHIDQI (U $C  *B:- ¢ *5% - (
-DNDE . UV]HQD
*$/$0%26, ,679EL 3 *$z )* *5% = (
-iPERU (QGUH 7D
9E*ES6, $77,/$ 3 wmoox *5% = (
-DQiN 7LERU -y]
(*5, 2562/<$ .$7$/,1 3 *$z )% *5% = (
]
0e6=E526 ("7 3 *$z % *5% = (
.DPDUiV 7LERU
%$1.$,679E1 3 *$:- % *5% = (
%$1-Ele 6=$/%$, 7(5e=$ 3 *$z % *5$ = (
ODUFLV =VX]VD
-$.$% .,56=7,1$ 3 *$- * *5$ = (
=E"25, (5,.% 3 xeoox *5% = (
6E5(&=., 7$OE6 3 * o ox *5$ = (
OiUNXV $IDIRV
58%(&=1e 6=$/$, 5,7$ 0$5, 3 o % *5$ = (
58%(&==2/7E1 3 Ty *5% = (
OE5.86 $/$-26 3 *$z )% *5$ = (
.81 0E5,$ 3 *$z )% *5% = (
0e6=E5261e +(* (" 86 *$%5,( 3 *$z )% *5$ = (
3E5, (0(6( 3 - *5% = (
%2=6,. (6=7(5 3 *mzox *5$ = (
&6(57$ $11%$ .5,6=7,1% 3 *$z )* *5% = (
617, .5,6=7,1$ E*1(6 3 *$z * *5$ = (
5$&6 %e/$ $(  *Tmz o> *5%: (
OHGYH OyQIND
9$5*$ =62/7 3 *$z % *5% = (
3URVLIVQp 6ill
9lV]lyFNLQp -RYiFV 5D 3 *$- ¢ *5% = (
.,66 /E6=/T 3 *=zo *5$ = (
ORIQiU 3plHU $QGUIV $C  *HB: > *5% = (
ORIQil $IIID &VDED $C  *$:D o~ *5$ = (
9%XGDL EJQHV $C  *$- * *5% = (
9%XGDL EJQHV $C  *T:z * *5$ = (
9%XGDL EJQHV $C  *$B: ) *5% = (
-85,//% (5=6e%(7 $C  *Tz * *5$ = (
.85,//% (5=6e%(7 $C  *B- > *5% = (
SXVIQ\IN ZiV]ly
+(5&=(C* %e/$ 3 *$z )% *5% = (
+(5&=C* %e/$ 3 *$z % *5$ = (
6RIAPRVL eYD
OE7<86 /E6=/T 6E1"25 3 *$z )% *5$ = (

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

O UNXVQp 6] |NH ,IGINy



O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
GIURETQ *DEUH)
+$56E1<, OES5. 3 wmoox *5% = (
625(*, (5=6e%(7 3 *$- * *5% = (
2/E+1e 6=3$%1 ("7 3 wmoox *5% = (
+(*("86 *E%25 3 *$- * *5$ = (
+$-"03e7(5 3 *$- )* *5% = (
7DIiU OINyVQp
+$-1%/ %e/$ 3 *$: % *5%: (
8YDFVHN &VDED
%81 -E126 3 *$:- % *5% = (
.29E&6 %e/$ 3 *$:- )" *5$ = (
89%$&6( .- 1e $5, =68=6$11$ 3 *$- )* *5% - (
89%$&6(. -5<67<1$ "$187$ 3 *$- * *5$ = (
8YDFVHN .U\VINQ
.5,9E1,. )(5(1&1le 3 *$:- )% *5$ = (
.5,9E1,. )(5(1& 3 *$z )% *5% = (
.5,9E1,. )(5(1&1le 3 *$: % *5% = (
.5,9E1,. *E%25 3 *$:- % *5% = (
gVV]HVEIHI pUipN
JRUIDRP , (85
$QV] - IGIS 6]HU]EGE (I\VpJ  7ISXV  7DWID  7DUIDP  %LJW W ~XIDIpN
DRUIDIRP ,, (85
$IQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DWID  7DUDP %IV HiLV ~XIDIpN
* DIYDGRUI %D\DU
1$*<le /E6=/T (5=6e%(7 3 *$:- (& *5% - (

gVWIHVEIHI pUipN

$] HIV]i PRITVVDI NDSFVRIDIRV UHNIDP i FLyNDI NpUil N tUIVEDQ D] HV] i PRIV Np]KH]YplHIpl |0 V] i PRI

KpliHQ EH) 0 D] O,& WRGIEDQ (HDGQL

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

O UNXVQp 6] |NH ,IGINy



